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= 3.000
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O [22Hl] = 1,015
o BANSYZUHA(TRAILNA) = 1,015
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5,000 0 5,000 01 2LH04
O S2FZZIHLALY SFX HX 0L
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200,000 x 59 x 53| = 5,000
(¢ 5,000 )
207
o ey 150,000 0 150,000
150,000 0 150,000 01 4]
O HIS9A®Y ZHAY 150,000,000 x 14l = 150,000
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012H0| & 47,600 0 47,600
47,600 0 47,600 02 2I2tAAB X2
O HESSZBTAF ALY 47,600,000 x 14! = 47,600
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6,633,099 3,621,659 3,011,440 |01 Al&H]
O T2AZTHASIAY
(ZA) 2,989,200,0008 - (DA 1,960,660,0008 = 1,028,540
(2&) 1,793,520,0002 - (JIH 1,793,520,0008 (& 0)
(ZA) 1,195,680,0002 - (D& 167,140,0008 (2 1,028,540 )
O DIEH23 2 ZAAS (ZZAIENA)
1,129,614,000 x 14 = 1,129,614
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=
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(7 980,500 )
(= 149,114)
O Dtet235t2 ZAAFS (FD1)
(2&) 1,976,900,0002 - (JIH 1,129,614,0008 = 847,286
(2%) 980,500,000 - (JIH 980,500,000 (2 0)
(23d) 996,400,000 - (JIH 149,114,000 (2 847,286 )
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O DI ALY 10,000,000 x 15 = 10,000
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200,000,000 X 14l = 200,000
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300,000,000 X 14!
(3H) 500,000,000 - (JI&) 200,000,000 = 300,000
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1,515.15 X 330,000 = 500,000
O ZHEOHHEXBHZ(2ZAIEZNA) 800,000 X 5MHA = 4,000
O NSZQAXNZTHALEXOHU L (ZZAIEUHA)
13,894m X 21,880m" = 304,000
O ZH2ZRAXETSAILEXI 0N Y (FI})
596,000,000 X 14! = 596,000
O NSZQAXNZHAIS (ZZAIEUHAM)
900,000,000 X 14l = 900,000
O EESMESZSAX(NAR2)THAIAHI(ED)
894,330,000 X 14! = 894,330
8,505 0 8,505 |02 22l
O Y =B QXN ETLH A2 (ZZAIEUA)
450,000,000 X 1.8%% = 8,505
9,143 756 8,387 |03 Al& L0
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